PART—I / @r—I
CHILD DEVELOPMENT AND PEDAGOGY / oot forama 3iit frerm-vmel

Directions : Answer the following questions | fA29r : frafafaa w@ % SW A & foe we/wmy

by selecting the correct/most appropriate Wﬁﬁqﬁﬁﬂ.l
options.

1. Creativity is thought to be related to | 1. QoI F1 ____ @ @Y { Tl

the concept of—

AT S 2

(1) crystallized intelligence (1) @ER il
(2) convergent thinking (2) frga @9
(3) divergent thinking (3) fafyy 9=
(4) fluid intelligence (4) 24 Sfgehdl

. The acceptable sound combinations of

. Tt s ¥ g e GEeE] B g

1 . N .

Ia_xvll:\:guage are specified in its M%meﬁl
(1) grammatical (1)

(2) syntactic (2) ‘

(3) inflection (@) Tt

(4) phonological (4) sh-weh

. The position where thought patterns
are influenced by language is called—

. 59 | h wben R e g gafad 2

8, @ U frfa 9 e E—

(1) linguistic determination . (1) v Ruffa

(2) cognitive bias (2) SR &

(3) sociolinguistic genesis (3) |TIRAR- TR T3ya
(4) cultural tendency (4) wFR Wl

. Ravi repairs appliances by testing
hypothesis about the cause of the
malfunction based on his experiences
with the symptoms. He uses—

L S T S —

T F FRO KGR = e =
IUHT S TRAT Tl B | T ITE T

(1) algorithms (1) wem-fafa =

(2) mental set (2) WA ggar =
" (3) heuristics !3) ﬂgﬂrﬂﬁfﬁrﬂ

(4) insight @) s



5. Divya often divides the assigned job
into small tasks which she can handle
easily. She is using—

(1) secondary elaboration
(2) subgoal analysis

(3) functional fixedness
(4) reductionism

6. “Society determines the roles of

male and female.” This statement
articulates—

(1) gender as a hereditary endowment

(2) gender as an intuitive construct

(3) gender as a social construct

(4) gender as an inherent construct
7. Grading, coding, marking and credit

accumulation systems are some of the
examples of—

(1) symbolizing position of children in
the class

(2) depicting the academic progress in
report card

(3) scoring procedure of assessment of
learners’ achievement

(4) evaluation procedure of answer
sheets of the examination
8. Assessment of learners’ achievement

helps the teachers to—

(1) evaluate the effectiveness of

pedagogy

(2) make ability grouping of learners in
the classrooms

(3) prepare activity log for teaching

(4) maintain the performance record of
learners -

5. Ren st FERm w1l = sR-sr el
i fawia = @ = ad ?) 9% Iw@m
Tl 2—

(1) T fermmo faftr =
(2) 3vasa fawdmm fafy =
(3) Forarers stgan fame fafa =
(4) w9 FA A fafa =
6. ‘7w 3l wieen A et =1 fufm ga
el 1 98 FYA Far g fF—
(1) ik T mgafie wfan @
(2) Tiffrehal U Al a8
+(3) <ifireral T T STEWT ©
(4) <ifirra s afifEa srEaw ®
% FO KW |
(1) e 8 g=1 6 fufa i fream fafy
(2) scE-va (far =€) # ris wifa =
EIC]
L(3) trmTFaiAl f Ivafy ¥ e 6
Ta-fafy
(4) wlien % IW-UA1 6 Yeais o uiE
8. HAltnmerdisli € Ivafe o1 AeFer e 6
HEAA Fal e—

(1) Tem-afrm faftml f gwEsfiem =
AT H A

(2) w&aTi # offtrmasalell F swWal W
CRicks

(3) T = g nfafaftrt 6t g=h am +a
(4) stimmERdis ¥ yeri @ e @ §



9. Inclusive Education is based on the 9. warash fhen % frg@ T anaii@ R)
principle of—

_ »(1) HHAI T HHH 3a®
(1) equity and equal opportunities &

(2) w3 T Svdie

(2) social existence and globalization

(3) world brotherhood (3) ﬁﬁagm

(4) IR dgeH

(4) social equilibrium

10. The Rights of Persons with Disabilities 10. Reaiem siftem siffan @f ___ # <

Act has been enacted in the year— fopan 7/ R
(1) 1995 (1) 1995
(2) 1999 (2) 1999
(8) 2016 +(3) 2016
(4) 1992 (4) 1992

11. Childrén with individual differences | 11. @R fafaudsii ot =i 1 wem % foe @
-should be taught in a school having Torarem 81 =nfee wiel es—
teachers—

(1) Tafau srfrm savawaedt % agan faftm

(1) trained to use different pedagogy to Rream-afrm oRfE =1 W = 3
meet their diverse learning needs R &

(2) trained to. Feach .children with (2) Faftte =i Rifyumst @ w9 =R
specific individual differences 3 fre Rl @

(3) trained to make them homo- @) T W ' Y ~ Y
geneous learners - Qe S ”;E'i.

(4) to teach in different sections of
classrooms based on their
individual differences

(4) wafea Rfumal ¥ smum w FlE A
T Fenadi & fafim @1 3 ve1 9%




12. The Right of Children to Free and

13.

14.

Compulsory Education Act, 2009
ensures the rights of children with
disabilities to free education from—
(1) 3 years to 18 years

(2) 6 years to 14 years

(3) 6 years to 22 years

(4) 6 years to 18 years

?roviding teaching-learning materials
in accessible formats to the diverse

learners implies—

(1) Universal Code of
Practices

Teaching

(2) Universal Humanistic Approach of
Teaching

(3) Universal Design of Learning

(4) Universal Inclusive Education

Ethical Considerate

involves self-awareness and
control of cognitive abilities, e.g.,
planning, reviewing and revising, etc.
(1) Metacognition
(2) Cognition

(3) Accommodation

(4) Centration

. When children think to interpret the

received information according to their
experiences, it is called—

(1) creative thinking
(2) abstract thinking
(3) concrete thinking

(4) reflective thinking

15. /@ 9= W0 I TS GEAR 6l AR FAH
@A

12, Fes @@ AfaEd o foan stiver srfufrm,

2009 fe=m == & fyes e % sier
= ghfem +ta 2—

(1) 3949 18 79 @& & fau
(2) 694 H 14 a4 os =& fog
(3) 699 @ 22 a9 7% % T
(4) 69§ A 18 ad = & fo1g

13. fafdy sftrmeraiett & fou g e 3

Rgu-afrm gmiEl "R = w1 e
|2

(1) T saraaiEa 6 wEE dfed
(2) fogm ¥ wevitfies wFaa gwm
,(3) ftrm & i W=

(4) Treshfter gaEeh foen & Afes =R

14, EEFEHal 6 GFFEHF R &1 e,

AR—SHAT AT, FHIET T SR HIMEA HE
TR 7 sEfifed 8

+(1) EIHsIY
(2) ¥FH
(3) WHESA
(4) HEER
£
T o9 ogyEl & YR W HE §, o 3@
ENEIGIE

- (1) eI H
(2) ¥ €

(3) T

(4) wiaframEm |-



16. ﬁmﬁﬁﬁmm%mmmﬁ

e ed " on e abitiyy. of | e ¥ fafim il 4 o A TR gL TR
individual learner is known as— AR Fe S e
(1) selective instruction (1) =afra ITPRTH
(2) precision teaching (2) T fre
(3) errorless instruction (@) TR A
(4) differentiated instruction @) fd s
T feamming which is antecedent 1o | 17. sferew st 1 T e <o %, 3 e
stage of learning. - ¥_ o e gl
(1) motivation ,(1) IR
(2) independent (2) T
(3) generalization (3) wHTRAE
(4) acquisition @) SIDprl

. Zai ) L .
18. Zajonc believes that cognition and T g 3 Y g—

emotion are— ;
7 2
(1) independent .
(1) ==
(2) interrelated =y
(2) STagsi[
(3) integrated
(3) ThIFd
(4) interdependent
(4) =G

19. A teacher is teaching children by
demonstration of a task to correct the 10. 778 ¥ €@ 7T @] guR ¥ R

performances of an already learned R S 9 TeIh Yo e @ 2 9 R
task. He is using method of
: l faftr =1 s == @ R
teaching.
(1) observation (1) sTacrH
(2) correction /(2) Bl
(3) modelling | (3) whcrgur
(4) imitation (4) ATHM@

™ TT fw=



20. According to Mann and Janis, decision

21.

22,

23,

maker children analyze the problem,
list the alternatives and weigh each
option for its advantages and
disadvantages. His behaviour reflects—
(1) vigilant

(2) outgoing

(3) autocratic

(4) surveillance

In thinking, a child as a problem

solver evaluates the truth or likelihood
of statements.

(1) aesthetic

(2) abstract

(3) logical

(4) creative

The task in which the children get

experience while enjoying themselves
is known as—

(1) consumer type task
(2) producer type task

(3) problem type task

(4) drill and practice task

Multisensory approach in teaching-
learning is the simultaneous use of

visual, auditory, tactile and
senses to enhance learning.

(1) vestibular
(2) perceptual
(3) observational

(4) kinesthetic

20. ¥4 o A F e, Pl N @ w=

TR 1 fovetvm @ 8, fwedt B g n
® 3l 3% w3 IHFEM & WE ueq W
foam A § | IR TR Wegd a1

(1) ¥dh

(2) Fradam

(3) Figm

«(4) S=d

21. T G991 GURE a1 f9uR & NuR ®

YA Y TS Y1 GHIE] 1 eI HT 8|
(1) died=ny

(2) s

.(3) i

(4) TR

22. 54 for v wE F W T T WY AFE o

T gV W o §, I e R
(1) IYHI WK T H™

(2) Ffomers yR ®1 w1

(3) THTHF TR 1 FH

'(4) Tea 3in s =

23, wg-vad fogm-sftem & wffy 3§ arftom-

T Y TG R S )

(1) Foi-Hx
(2) weagfierT
(3) i
.(4) TS



24. The development from central part of

the body towards peripheries or
extremities denotes the—

(1) principles of decentralized develop-
ment

(2) principles of proximodistal develop-
ment

(3) principles of cascade development

(4) principles of radiated development

. School is an institution of socialization
of children where—

(1) school routines occupy the central
position

(2) school activities occupy the central
position

(3) schoolteachers occupy the central
position

(4) schoolchildren occupy the central

position

. If you join a teacher fraternity and
choose to dress like most of the others
in your group, you are exhibiting—

(1) obedience
(2) compliance
(3) conformity

(4) group identity

24, Wi ¥ Fg v A oRfREl a1 s fit TR H
frr quifar 2—

(1) faira fasm & Rl =
((2) "ea-aTe fashma % Ragidl
(3) W e  faerd #
(4) Tafmofia forsra % Rrgrdl
25. T a= ¥ @A H T TEowen
? Sel—
(1) W@ T e H =l & 8 e
.(2) i@ T The I Tl F e R
(3) TYE T TEa & e F fa @
(4) YHE TH el = H W @
26. ¥ 3 Th Red ¥R § I8 d & AR I

R % I Al h & e IR URO A
A R, O Y WeEH R BN E—

(1) OB SARTRINGT &1
(2) W Few-srgurer &
1(3) WG I FFETA

(4) TR <l YEAH H



27. The concept of object permanence is | 27. fFft o5 % wRE N sEumon fa ¥

attained during Piaget’s stage of fFE S 1§ 5w R < 3,
development. ——

. (1) E-ufEem
(1) preoperational

. +(2) 7o wfETer

(2) concrete operational
(3) formal operational (3) M= giETeH
(4) sensorimotor (4) A& -THH

28, =i fren wFEA H AN FEed A

28. Individualized Education Programme is

planned from the perspective of— STl S R
(1) Child-centered Education (1) IT-hisa fe Swiwd
Programme

(2) 7 Terereht fen s

(2) Open School Education Programme

(3) $-rferm fivan HrdseA

(3) e-Learning Education Programme

, : " (4) Tadw foen wEwA
(4) Special Education Programme
29. WA A ooy F I s IR
29. Between months of age, most . 3 >
children begin to combine words into “E‘;;%{? e S-St # &
short sentences while speaking. T ‘
(1) 18 and 24 (1) 18724
(2) 24 and 30 .(2) 24¥ 30
(3) 30 and 36 {3) 30® 36
(4) 12 and 18 (4) 12718

30. The concept of Intelligence Quotient 30. w W ARe Fo H) srauren @ T H—
or 1Q was developed by—

(1) Binet () bl
(2) Stern ’ (@) =Fam
(3) Terman (3) T % T

(4) Galton (4) NeeiA % g |



Directions :

| PART—II / wmi—II
MATHEMATICS AND SCIENCE / it aiR fsm

* Answer the following questions

by sclecting the correct/most appropriate
options.

31. If two quantities x and Y vary inversely

32.

33.

with each other, then which one of the
following is true?

(1) Product of their corresponding
values remains constant.

(2) Summation of their corresponding
values remains constant.

(3) Difference of their corresponding
values remains constant.

(4) Ratio of their corresponding values
remains constant.
Given
Ty
x6
yyy
Then the value of y is—
(1) 6 2 4
(3) 2 (4) 8

To fill a rectangular tank of area
700 m?, 140 m?3 of water is required. -
What will be the height of the water
level in the tank?

(1) 20 cm
(2) 30 cm
(3) 40 cm
(4) 10 cm

ﬁé‘w:ﬁ%@auﬁ%w%ﬁ%%ﬁﬂﬁ/m
39y ey gfm)

ﬁ'l.ﬂﬁatﬁﬁxaﬁ?y@‘

A F e w9 A

Hed-agd &, o FrafaRaa § ¥ F9-w w27

(1) 9 @Elya o9 * PR TEEEE
& 2

(2) % wEfm WEl 1 M wHEEAE =
Tedl 2

(3) % W@ T W W TEEER
Tl 2

(4) % FEU@ A UG CHEHH 5
Tl Bl

32, fd

Ty

X6

yyy
T y & HE 2—
(1) 6 .(2) 4
(3) 2 (4) 8

33. 700 m? 8F%d % UF NEAHER IF 1 v F

1T 140 m® ol i sEvEwa 2 3% § g
% Tl S8 w1 il

(1) 20 cm
(2) 30 cm
(3) 40 cm
(4) 10 cm



34.

35.

36.

Which one of the following is the most
suitable strategy to teach the skill of
addition of money?

(1) Role play

(2) Use of models

(3) Doing lots of problems

(4) Use of ICT

After teaching the concept of multipli-
cation to her class, a teacher asked her
children to multiply 48 by 4.

One of her students solved it orally
as “To multiply 48 by 4, we first
add 48 to 48, which makes 96 and
then add another 96 to reach 192. So,
the answer is 192”.

What can you say about his/her
strategy of multiplication?

(1) He/She has not understood the
concept of multiplication.

The given problem is a multipli-
cation problem and not addition
problem.

He/She understood multiplication
as repeated addition.

The child used a wrong method to
multiply. He/She has to use the
place value algorithm to multiply
the numbers.

(2)

3)

(4)

Which one of the following should
be taken up as initial activity in
introducing the concept of ‘time’ to
young learners?

(1) Teaching children how to read time
in clock

(2) Teaching children how to calculate
elapsed time

(3) Conversion of time in different
units

(4) Discussing about the prior
experiences with phrases related
to time

84

35.

36.

Feafifee 8 900 & 9 = e ey
Tore wed 3ugh Wi - 27 '

(1) 9=

(2) wisEt F gEn

(3) =gd arfl wHR /9w T FA
(4) ¥Mgo Hio dlo = IYGM

FFA Fe F PN F AGUR R W@H F R,
& e A 99 9= | 48 F 4 | M FA
H FHE

IH OE A T A @ NfEE wA
fora, ‘48 F 4 A TN T F TAQ T ww 48
A 48 < 8, f9@@ 96 sl ® R fiw
96 3N Wigd €, @ 192 &9l 21 I THR IW
192 %1

Ton R IER WHIfD F IR F AN FT FE
THd &7
(1) 38 Ton i rFuRon gag § TE g R

(2) € 7 wEn o on gEeE @ e 9m fi
e e R

(3) IWA TN F TR-R I F ¥ F gHA R

»(4) =4 1 TN T & o Tew Ry = @
) =l | on s % foe @
TR R YeNigR 1 3990 S 1Ry

s B TG 6 AU F WEAad FH 6
eyl nfafaft & w9 d feafafas 3§ 3
HR- 6 S =ifge?

o(1) = B e 5 oud A wwm oW W
9gl S

(2) == i vgm % 4@ gu ww it o
¥4 H

(3) Tafira gormgat & wa &t wUiwRn T

(4) ¥ & Hefd G F WY @ gvEl
R & == &



37.

38.

39.

Which one of the following is not the
purpose of assessment?

A. Monitoring student’s growth
B. Making instructional decision

C. Evaluating the
curriculum

effectiveness of

D. Ranking the children based on
performance

Select the correct answer using the
code given below.

(1) D
(2) B
(3)' €
(4) A
Which one of the following methods is

most suitable for teaching mathematics
at upper primary level?

(1) Lecture method
(2) Activity-based learning
(3) Problem-solving method

(4) Demonstration method

Which one of the following is most
essential in learning mathematics at
upper primary level?

(1) Exploring different ways of solving
a problem

(2) Memorizing all formulas

(3) Copying correctly what teacher
writes on the board

(4) Solving a ‘problem many times

37. Fr=fafaa # | SF-w1 geaie %1 3w 7E 87

A. B8 % fawm i e s

B. T fofa &

C. UIGTHA <l MTaRficrdl 1 Yedih Al
D. WM % 3MER | F=1 I ek e
= fou e 2 w1 W = wEd W i)
(1) D

«(2) B

(3) C

(4) A

38. 3= Wufis W ) i ven & foe fFafafaa

T & wH-H Tty wed i 3uge 27
(1) =EF fafa

(2) Tifafafa-anamia stftrm

(3) TEe-gayE fafy
, (4) we=A fafy

39. 3= WUl W W @ afrm F fir

Ffafad & § FR-T g=d st smawas 27

(1) Toreft v = B9 w0 % faftm w0 6
QN HE

(2) |+t g A AR H

(3) e & W < forman &, sow wd @ R
el B

(4) TS THE ! FE 91 T HE




40. The strategy of questioning used in the
mathematics class at upper primary
level—

(1) makes the classroom noisy as the
children would be talking too much

(2) could create stress among children
and may lead them to accept the
teacher’s authority

(3) helps children to express their
thoughts or understanding and
think critically

(4) should be discouraged as it
demoralizes the child who is unable
to answer

41. A teacher has taught measurement of
area to class VIII children, but many of
her students are confused between the
usage of different units of area and
volume. What could be the reason for
such a confusion in children?

(1) The children have not memorized
different units.

(2) Different units have been
introduced all together without
relating them with their daily life.

(3) The concept of measurement of
area is a difficult topic for a
class VIII learner.

(4) The children did not know the use
of units for area.

40. 3= MUHF T | TR A
i i R g we § I eR

(1) Emﬁﬁmm%mﬁﬁaﬁa@
161 91 HU)

(2) ¥=01 & &9 aE YT W TEd R
foers & AR # wiwr w3
T H AHA &

,(3) s= H I foER 1 THE =AW T IR
HTCT=HTeHS &9 § e ¥ Heg Ll 8

(4) 9 TdIcaIfEd T MY FAMTH 98 39 a1
1 =1 feardl & S I A A R

41, T g 3 &0 VI F S 5 83%d 794
firamn &, dfa 370 w8 9T &9%d IR A
H1 fafim godl & I & o= IaeE ° )
o=l 1 30 TE % 99 1 HRU ] 8 Ghal 27

(1) == 3 fafa el = A T2 fwa )

(2) ITETT-37e THEE H Ih of Sfad A
%ﬁmﬁmn‘sﬁﬁ@wm
TR

(3) =& VIII & Theneff &% fou smwa ara= 6
ITEYTN Teh whicd Tawd 21

.(4)@@%@3@%%?@
T o)



42. Which one of the following can be the

43.

a4,

most appropriate aim of encouraging
mathematical communication in
classroom?

(1) Children who have fear about
mathematics should be able to
interact in the class

To organize debates in the class
regarding topics of mathematics

(2)

(3) Children should be able to recite

theorems and formulas in
mathematics class

(4) Children should be able to use a

precise language while talking
about mathematical statements
and using them

The purpose of a diagnostic test in
mathematics is—

(1) to give feedback to the parents
(2) to fill the progress report

(3) to plan the question paper for the

end term examination

(4)

to know the gaps in children’s
understanding

Remedial teaching is helpful for—
(1) recapitulating the lesson
(2) teaching in play-way method

(3) removing learning difficulties of
weak students

(4) teaching the whole class

42.

43.

e A Mfvrda arater A e wQ @ g9
I9gh Jevd Frafeafaa 3 ¥ ¥F-T1 @ g 27

(1) @ | =W I =6 F Fa F g F
Tt 0 (37a:5R) § awm 9 TRy

2 ra F fawai F W) ¥ wem ¥ wwy
e '

(3) ==l I nfvra fi wen F vy o G F
9re[ T TEH g1 =1eY

.(4) e faEel % R # 9@ F@ ge ek
ITFH IFN FA G T F T S
{91 1 9T A A GEH BT T1RY

o # ST e w1 e R —

(1) =ma-faan = wlafsean &

(2) wfa fae s

(3) =fim 3@l i whan % g ww-mm N
AT SHAT

s (4) o= ) wHF | I TN

44, ITERTHS REw qems 2—

(1) 9B A gRIgf % ferg

(2) Q-an fafy g0 foem ¥ fig

» (3) FHEIR B H W f weE B g
0 & frg

(4) I &0 R wGR F feg



45.

46.

Which one of the following is not a
mathematical process?

(1) Memorization

(2) Estimation

(3) Measurement

(4) Visualization

“Errors play a crucial role in learning of

mathematics.” This statement is—

(1) true, because errors reflect the
thinking of child

(2) false, because mathematics is exact

(3) true, because errors provide
feedback about the marks they
obtained

(4) false, because errors occur due to
carelessness

45. Fefifad & ¥ FR-f w P i

e ®7

. (1) @

(2) AThedd

(3) HMHA

(4) wHEEIH

46. " HER A oAl w wewgy i fard

21" 98 wud —

.(1) &, it At 7= 9= 7 i §

(2) 26, HiE TG TEE

(3) @™, Hifs Fui ww H F A [
gffshan weM wd &

(4) 3TET, i TTRATE! % HRU (AT Bl &



47. While teaching ‘shapes’, a teacher can

48.

plan a trip to historical places, as—

A. it needs to provide leisure time as
most of the syllabus has been
completed in time

B. it would be an opportunity to
improve communication skill

C. shapes are an integral part of every

architecture and such trips
eéncourage connections across
disciplines

D. field trips are recommended by
Education Board, so must be
organized

Select the correct answer using the
code given below.

(1) C

(2) Band C

(3) A, Cand D

(4) A and B

A student was asked to calculate the

surface area of a cube.

He calculated the volume.

The reason(s) of error in calculation

is/are— :

A. the student
boring as he
mathematics class

B. the student is not fit to study in
that class

C. the student is not able to
understand the concept of surface
area and volume

D. the student has understood the
concept of surface area and volume

Select the correct answer using the

code given below.

(1) Band C

(2) D

(3) A and B

4) C

finds the class
does not like

47. ‘J&R’ derd 9d, Th e Uefie e

& AT < AT S Gehal @, w4 Te—

A. ITFHN T WEH HA hl AEERA 2
Hifh ARSI TESTHET W W T A
Il ©

B. ¥g GO HI19e § GUR FA H1 G698l

C. IR | aRgHhen & T AfE femm @
3R 3@ We N I fawdi d wEy @
WeaTied il 8

D. foen 9% g dies u H fawiRa H

St R, AT gER SESE s R
ST =TfRY

= ot 1Y e w1 W W g IR g
(1) C

(2) B3R C

(3) A, C3RD

(4) AR B

48, TF BT F Th 94 I Gelg H1 &A% ohle &

eI R
I\ A e

AT & Jf H/F w0 R /R—

A. BHE FH 6 39S Y 8, e Y O
) e gHe 7 B

B. B 3@ %& H wgd F0 % o 3wy
T ? |

C. BE Hag o A% 3T ARG 6! SEEmon
= THgE o w1 R

D. B TUde H1 &9%d 3R 3-aA Sl S=GURon
% U T B

i fiw e g2 w1 wEm @ s ghe
(1) B3R C

2) D

(3) A3 B

s (4) C



49, In a meeting, 2—45— of the members were

female. What percent of the members
was this?

(1) 24%
(2) 16%
(3) 4%
(4) 40%
50. A shop reduced its prices by 10%.

What is the new price of an item which
was previously sold for ¥ 5007?

(1) ¥550
(2) €450
(3) ¥400

(4) £510

51. Given below 1is a data set of

temperatures (in °C) :
-6, -8, -2,3,2,0,5,4, 8
What is the range of the data?

(1) 16 °C
(2) 18°C
(3) 10°C

(4) 0°C

49.maﬁﬂ,mﬁﬁ%weﬁl%
wew! 1 fora wfiem it
(1) 24%
. (2) 16%
(3) 4%
‘(4) 40%
50. TF gM A 37 el 7 10% H Fh F) o

FH T2 a1 8, T R € 500 # a=h
et fi? A '

(1) ¥550
. (2) ¥450
(3) 400

4) ¥510

51. R a9HH (°C H) W UEH A W R TR -

y _6) —8, _2r 3: 2: O, 5: 4» 8
221 YRR 4 R?

,(1) 16°C
(2) 18°C
(3) 10°C

(4) 0°C



52. A coin is tossed 10 times and the
outcomes are observed as :

H,T,H T, T H H T, H, H
(H is Head; T is Tail)
What is the probability of getting Head?

4

(1) 5

@ 2

1

8 2

@ 3
53. The numerical expression —3—+(—_87—] =§—2

shows that—

(1) rational numbers are closed under
subtraction

(2) rational numbers are closed under
multiplication

(3) rational numbers are closed under
division .
 (4) rational numbers are closed under
addition

54. Which one of the following 3D shapes
does not have a vertex?

(1) Prism
(2) Cone
(3) Sphere
(4) Pyramid

4 -3 Sx-2
55. If(%) " (%) =(%) : then x is—

2
(D S (2)

4
B < (4)

N~ nlw ‘

52. T% fye 10 R 3BT Sl § 3R g =
YR STl T oITd & :

H, T, H T, T, H H T, H, H
(H @ g; TwR)
o ww A h G9ET = R?

(1)
(2)
(3)

. (4)

njiw v~ N gls

ymm%+%=§ﬁ@m%ﬁﬁ—

| (1) it Seard saase & 3Taid §9d aidl o
(2) ufdg dEamd A F dia E9d Bl §
(3) wioha e Ty & fwia §9q wiel

. (4) 7P Hed A 3 siwta d9a B

54. frefafed 3D il § ¥ forem wid =i
&I 87

(1) T

(2) ¥F

+(3) e

(4) Trfire
5 4 5 -3 5 Sx-2

ss. (2] (2] =(5) a A

2 3

(1) = . (2) =
4 1

(3) = . (4) N



56.

57.

58.

59.

60.

Let a, b, ¢ be three rational numbers,
where a=%, b=2 and c=%5. Which
one of the following is true?

(1) a+(b+c)=b+(a+c)

(2) a+(b+c)=c+(a+b)

(3) a-(b-¢)=c—(a-b)

(4) ax(b+c)= bx(a+c)

A geometric representation, showing
the relationship between a whole and
its part, is—

(1) pie chart

(2) bar graph

(3) pictograph

(4) histogram

If g is the square of a natural
number p, then p is—

(1) the square root of g

(2) equal to g

(3) greater than g

(4) the square of g

The value of \/91+\/70+\/121 is—
(1) 10 (2) 11

(3) 12 4) 9

In a park, 784 plants are arranged so
that number of plants in a row is same
as the number of rows. The number of
plants in each row is—

(1) 28 2) 38
(3) 48 (4) 18

%6.

57.

58.

59.

60.

. (1) 28

mﬁQﬁ a, b, c?ﬁqqﬁﬁqmﬁg =
a=3, b= WC——-S-%lﬁﬁ%f@aﬁﬁ
@n—mw%?

(1) a+(b+c)=b+(a+c)‘

(2) a+(b+c)=c+(a+b)
(8) a-(b-c)=c—-(a-b)

(4) ax(b+c)=bx(a+c)

i fegqu, St R R IEE W F A
Hay foam g, 23—

,(1) 9§ =i

(2) <8 A@
(3) FEe@
(4) fe=um

Hﬁq@mﬁmé@mwéﬁ%,ﬁp%—
(1) g =igg

“(2) q % SR

(3) gA ==

(4) g

J91 +470 ++/121 &1 AH 23—
-(1) 10 2) 11
(3) 12 4) 9

T U #, 784 MY =&l fey W § @it
uftw & delt it gen, ufwat B gen § we @
B o ufe & D fir wem i —

(2) 38

(3) 48 (4) 18



61. Which one of the following is not a

62.

63.

64.

product of petroleum?
(1) CNG

(2) Paraffin wax

(3) Bitumen

(4) Kerosene

Red Data Book contains a record of—
(1) extinct species

(2) flora

(3) fauna

(4) endangered species

Why are the soles of the shoes treaded?
(1) To decrease friction

(2) To increase friction

(3) To increase life of the shoes

(4) To give the shoes more protection

‘Sarika took distilled water in a bottle

and tried to find whether it conducts
electricity or not. What is she likely to
find?

(1) It is good conductor of electricity.
(2) It is an insulator.
(3) It is poor conductor of electricity.

(4) None of the above

64, TIEH 3

61. frfafae d ¥ =R-w1 WQWifvmm =1 @R

T ?7

(1) Hlo THo o
(2) Ytk 7
,(3) o

(4) gt =1 @

62. T2 qF ___ % e @l Bl
- (1) Tagm wenfo
(2) FEafd

(3) W
.(4) EH9H FSTfrE]

63. T ¥ Wt sy T f S §7
(1) Sfee %M & forg
2(2) Sree R % ferg
(3) S 1 St W % fore
(4) SI§ S AR 27 F o

TE | 3/ 1 VW TN 9 87
+(1) %E g 1 gaes 2

(2) & T fagqed B

~(3) ¥ forgq =1 FeiR =Tes R
(4) I A A HHE T

A 9 TF Saat 7 formn R wan
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65. Which one of the following statements

66.

67.

is not correct?

(1) There is a maximum limit of
current which can safely flow in the
electric circuit.

(2) Fuses are inserted in electric
circuits of all the buildings.

(3) If: the proper fuse is inserted in a
circuit, it will blow off if the current
is more than the safe limit.

(4) There is a minimum limit of current
which can safely flow in the electric
circuit.

Which one of the following places is
most likely to be affected by a cyclone?

(1) Puri
(2) Mumbai
(3) Goa

(4) Porbandar

The change in seasons on the earth
occurs because—

(1) the axis of rotation of the earth is
tilted with respect to the plane of
its orbit

(2) the distance between the earth and
the sun is not constant

(3) the axis of rotation of the earth is
parallel to the plane of its orbit

(4) the axis of rotation of the earth
is perpendicular to the plane of
its orbit

65. Feferfad A § FH-a1 o ger 7 37

.(Umﬁgﬁqﬁwﬁgﬂ‘mmaﬁ%

Tere fermgq, w0 < arfirepan i 2
(2) a+ft w== i ® gfgeli
GRS R T T

(3) 3R whuy § 397w W "FTTHTW,#I

g o | aqfuaﬁﬁ"qqam T T8
ESE

(4) et foggq wRey 3 g(f‘&ﬁ‘ua'r%aaﬁ%
fou feregq, ama Y =gFem @ Ry

66. Fefafad & ¥ 5 W i IFa@ ¥ TR

67.

wrfer wofad g9 61 Gare 87
(1) g

.(2) g=E

(3) T
(4) TRt
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(1) 9ol 1 U A1 TR HE % o & ARy

ECalEIIS
(2) geft 3R g2 & <= i gt Fra 7€ R
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68. There are two columns,

69.

Column—A
and Column—B :

Column—A Column—B

(a) Canopy (i) Dead plant and
animal tissues
(b) Decomposers (ii) A wild animal

(¢) Humus

(d)

»(iii) Microorganism

Porcupine (iv) Branches of tall

tree

Which one of the following is the
correct sequence of Column—B for the
given sequence of Column—A?

(1) (), (i), (i), (iv)

(2) (i), (iv), (i), (i)

(3) (iv), (i), (i), (ii)

(4) (i), (i), (iii), (iv)

Why is formative assessment important
in science?

(1) It helps in developing scientific
temper in students.

(2) It is diagnostic.

(3) It helps in better understanding of
science.

(4) It is easy to conduct.

68.

69.

3 T, TE—A 3R Tr—B fig g §
TH—A wW—B
() g&feaH () TrEl 3R Siga %
Hd Sdeh
(b) AUEEH (ﬁ) T STl g
(c) T (i) &
(d) wTét (iv) 2 3& @ @

Frafafaa § 4 FF-w1 oy T w@—A % FA
% FFER TOH—B H1 TE FHH Y

(1) @), (i), (i), (iv)

(2) (i), (iv), (@), ()

(3) (iv), (i1), (i), (i)

(4) (@), (), (iii), (iv)

T & AT ST b we 37

-(1) =8 fhenfi & dfe sem % fem

e ¢
(2) 98 Femrs 1

(3) ?mﬁmmﬁwfnm
| 4

(4) T8 T IWE R



70. Why are science fairs organized in

71,

72.

schools?

(1) To help the students to score
higher in their examination

(2) To nurture creativity and
experimentation in science among
students

(3) To evaluate students on the basis
of their performance

(4) To prepare students for higher
education in science

As a teacher, which one of the following
do you find most appropriate for
scientific approach to teaching?

(1) Show the use of technology for

teaching concepts
(2)

(3)

Give projects to the students

Ask the students to perform
activities related to the concepts

(4) Clarify the students about the

concepts in the class

According to NCF-2005, “good science
education is true to life”. What does
this mean?

(1) Science should be able to engage
the child meaningfully.

(2) Science should enable the child in
learning the processes of acquiring
scientific knowledge.

(3) Science should help in living easy
life.

(4) Science should prepare the child to
the world of work.

70.

71.

72,

fraeEl 4 fam W@ = s =\ R
IR
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-(2) Tognfit # fgm # TR @ wm F=@ 6
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(4) Toenfii = fagm 3 3= foan % foe
A % forg

&9 =l
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73'

74.

75.

Which one of the following is not a
quality of scientific attitude?

(1) Curiosity to learn more
(2) Objectivity in approach to problems
(3) Hard work

(4) Open-mindedness

Hari wants to teach the circular motion
to class VI students. Which one of the
following will be the best method?

(1) Activity-based teaching
(2) Giving examples
(3) Demonstration

(4) Discussion

Which one of the following is an
important aim of learning science?

(1) To collect the information of
science contents

(2) To imbibe the values of honesty,
integrity and cooperation among
learners

" (3) To help the fellow colleagues in

getting knowledge of science

(4) To get knowledge of science

74. TR wan VI & T

73. Freafifn # & W-m i g

e »7

(1) e di A Iegpar

(2) FHEna % wfd =eEEn § TeghmEa
(3) e wHE

(4) gen Aiwrss

Hl
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(2) I AT

.(3) eI

(4) ==i
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76. The continuous and comprehensive | 76. RFF & Yeaiwa ¥ wad T G0 qediH I

evaluation in science means— o g—
(1) more frequent test and (1) i e siter @@ witen
examination .

(2) M % rheR ¥g WA At ofk

(2) routine activities and exercises to AT

assess learning

(3) fomm & st weqat 1 TearA

(3) evaluation of all aspects of science

(4) summative and formative -4 Rt .
assessment

, 77. Frefafaa # ¥ FR-m wren-gaaE &y =
T7. Which one of the following is not a step T = T 27
of problem-solving approach?

(1) |HIH™ <l 9q1H hTAl
(1) Attempt to solve

(2) fred e

(2) Drawing conclusion

(3) HaeEA

(3) Observation

.(4) feufa 6t Feum e
(4) Visualizing the situation

. 78. Ffafad # ¥ FR-w fagm & srgewa fafy
78. Which one of the following is a step of

analogy strategy in science? FTE T /Y

(1) Presentation of abstracl;ion ' (1) IR 1 SRR

(2) Interlinking concepts (2) SFTUROMST H TH-FW § g
(3) Application (3) 3wEm

(4) Map similarities (4) @A H




79. The

80.

81.

82.

83.

84.

longest snakes found in the

world are—

(1) anacondas

(2) boas

(3) reticulated pythons
(4) vipers

Yoga is done by the people in the world
because—

(1) it keeps people healthy
(2) it increases hunger

(3) it brings happiness

(4) it is a simple exercise

The vaccine for was

discovered by—

(1) Robert Koch

(2) Edward Jenner
(3) Alexander Fleming
(4) Ronald Ross

smallpox

Which one of the following is used as
preservative?

(1) Sodium benzoate
(2) Ammonium sulphate
(3) Sodium chloride
(4) Copper sulphate

Yeast is used for the production of—
(1)
(2) sugar

(3) common salt
(4) alcohol

curd

Mitochondria : ATP :: Ribosome : ?
(1) -Fat

(2) Protein

(3) Vitamin

(4) Carbohydrate

79.

80.

81.

82.

83,

84,
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85.

86.

87.

89.

90.

If the frequency of a simple pendulum
is 2 Hz, how many oscillations will it
complete in 16 seconds?

(1) 16 (2) 32
(3) 64 (4) 8

Which one of the following metals
burns if kept in air?

(1) Magnesium
(2) Zinc

(3) Aluminium
(4) Sodium

Magnesium hydroxide [Mg(OH)2] is
used as—

(1) reducing agent

(2) anti-acid

(3) fermentation agent

(4) oxidizing agent

Which one of the following gases burns
with pop sound?

(1) Hydrogen

(2) Nitrogen dioxide

(3) Sulphur dioxide

(4) Oxygen

Which of the following is/are example(s)
of non-contact force?

(1) Muscular force

(2) Gravitation force

(3) Magnetic force

(4) Both (1) and (2)

Diabetes is
hormone.

controlled by

(1) adrenaline
(2) insulin

(3) thymosin
(4) thyroxine

85. IR TF A Wrer Hy

86.

87.

88.

89I

90.
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PART—III / W T—III
SOCIAL STUDIES/SOCIAL SCIENCE / Wi 3eaaq /amiimes fogm

Directions : Answer the following questions
by selecting the correct/most appropriate
options.

31.

32.

33.

34.

A narrow strip of land Joining two
landmasses is known as—

(1) isthmus
(2) island
(3) bay

(4) strait

Which one of the following continents
is smallest in size?

(1) South America

(2) Africa
(3) Europe
(4) Australia

At the upper primary stage, Social
Science comprises of—

(1) History, Geography, Economics,
Sociology

(2) History, Geography, Political
Science, Economics :

(3) History, Geography, Political
Science, Sociology

(4) History, Geography, Political

. Science, Psychology
Inductive learning is contradictory to
which one of the following approaches?
(1) Structure training
(2) Simulation
(3) Mastery learning
(4) Expository teaching

— ww - —

fAdor

: Frafafas @l F W @ & fou odt /=

Jugh feed gL

31.

32.

33.

34.
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35. Read the given statements A and B and

36.

37.

38.

39!

select the correct answer

A. Critical thinking promotes the
building of concepts, application
and expansion of ideas.

B. It does not help in understanding
and evaluating arguments and
beliefs of others.

(1) A is false and B is true
(2) Both A and B are false

.(3) Both A and B are true

(4) A is true and B is false

What is an empirical evidence?
(1) A numeric approach for research
(2) Data measured in metric units

(3) Data gathered using
methods of data collection

(4) Data gathered in the real world
through the senses

reliable

The models/replicas of physical
features are most suitable for
teaching—

(1) Economics

(2) Geography

(3) Political Science

(4) History

The collection of weather information

from the local newspaper is an example
of which type of source?

(1) Primary

(2) Secondary

(3) Tertiary

(4) Both primary and tertiary

In which type of classroom, the

students with learning disabilities
learn alongside other students?

(1) Special
(2) Inclusive
(3) Modern
(4) Exclusive
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40. Who has given the following theory?

“All children go through the same
sequence of development, but at
different rates. Therefore teacher must
plan activities for individual children
and small groups, not just for the class
as a whole.”

(1) D. Purcell
(2) J. H. Bell
(3) J. Piaget
(4) C. L. Ogden

41. In order to promote cooperative
learning in the classroom, a teacher
should—

(1) give them individual projects

(2) divide the class in small groups for
work

(3) provide them various sources to do
the project

in debate and

(4)

engage students
discussions

42, A self-guided, self-disciplined thinking
which attempts to reason at the
highest level of quality in a fair-minded
way is called—

(1) complex thinking
(2) intelligent thinking
(3) abstract thinking
(4) critical thinking
43. The colours used in the Ajanta Caves

Paintings have been derived from
which of the following materials?

(1) Graphite
(2) Plants and minerals
(3) Slate

(4) Remains of animal organs
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41.

42.

43.
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44, The earliest manuscripts were written
on—

(1) stones
(2) paper
(3) wood
(4) palm leaves
45. Which one of the following periods is
longest in the human history?
(1) Mesolithic
(2) Neolithic
(3) Megalithic
(4) Palaeolithic
46. Read the given statements A and B and
select the correct answer :

A. Mehrgarh is located in a fertile
plain near Bolan Pass of Pakistan.

B. Evidences of farming and herding
are found here.

(1) A is false and B is true
(2) Both A and B are false
(3) Both A and B are true
(4) A is true and B is false
47. In which one of the following States of

India, the largest number of Harappan
sites have been found?

(1) Haryana
(2) Gujarat
(3) Jammu and Kashmir
4) Punjab
48. ‘Rig> Veda’ was originally composed in
which one of the following languages?
(1) Pali
(2) Sanskrit
(3) Prakrit
(4) Brahmi

44, |e® QU wighertal o Ry i off
(1) weerd
(2) =
(3) w8
(4) @S W
45, e sferm A FefaRed 3 ¥ FR-d aefy
(1) TR @ 27
(1) WY IS
(2) TN HTA
(3) HETHTSTOT T
(4) o el

46. fiu T FuAl A 3R B # 9fer 3R €@ IW F

'ﬁ'ﬂ'—ITﬁﬁN:

A. AR UfREE § ded & b I9 &
IS HeE A R

B. Tel @di i I3@Ier % WiE 9T M ¢
(1) A 3G 2R B AR
(2) A 3R B2 | &
(3) A 2R B H ¥ &
(4) A ¥ ® 3 B 30 B
47. ya % fFrefafas o=a 8 | e ™ T W
ST % TN g 99 gEm A e 87
(1) efmn
(2) et
(3) = 3R R
(@) o
48. ‘wae’ g9 w1 A Fr=fafan § ¥ fr sy &
= T o
(1) dreht
(2) wEFd
(3)
(4) sl




49, The . first ruler of Magadha
Mahajanapadas in the sixth century
BC was—

50.

51

52.

.- Who among the following elects the

(1) Voters in Parliamentary Constitu-
|

(1) Prasenjit

(2) Bimbisara

(3) Ajatashatru

(4) Mahavira

Which one of the following is not
among the three jewels of Buddhism?
(1) Dhamma

(2) Ahimsa

(3) Sangha

(4) Buddha

Rajya Sabha Members?

encies
(2) Lok Sabha Members

(3) Members of Legislative Assemblies
(MLAs)

/

(4) Voters in Assembly Constituencies

Which of the following systems of
government was adopted by India?

(1) Presidential and Federal
(2) Presidential and Unitary

(3) Parliamentary and Federal

(4) Parliamentary and Unitary

49'

50.

51.

52,

od T @ @ § WY WEEAR ¥ gEe
ES A—

(1) wEsia

(2) fafEEr

(3) 3FIaRTE

(4) wEmER

frafifes 4 @ -7 de-w F Bl § 9
& ®?

(1) =

(2) e

(3) 5=

(4) g

fafafed 4 @ #9 Tsgaw wel w1 e
Fl 27

(1) wwer Fafeq-aEt & gagm

(2) Trwa R

(3) Taura & "awg (faumas)

(4) faurraan Fafe-a6t % daemm

Wi g Fefafaa & & fra R yomreh
CIREIRIRICIR K

(1) Tt 3R wefa

(2) Tgafd 3R wHTeS

(3) H®SHE 3R Welly

(4) HedE AR THH



53. How many Parliamentary Constitu-

54.

S5.

56.

encies are reserved for the Scheduled
Castes?

(1) 84
(2) 47
(3) 74
(4) 48
Which one of the following Funda-

mental Rights is violated due to
practice of untouchability in India?

(1) Right to Freedom

(2) Right against Exploitation

(3) Right to Constitutional Remedies
(4) Right to Equality

As per the Constitution of India, which

one of the following is mot a Funda-
mental Right?

(1) Right against Exploitation
(2) Right to Freedom of Religion
(3) Right to Property :

(4) Right to Education
Untouchability refers to
discrimination on the basis of—
(1) gender

(2) caste

(3) race

(4) physical disability

57. Who appoints the Chief Minister?

(1) The Prime Minister
(2) The Governor
(3) The Chief Justice of the High Court

(4) The President

53.

54.

55.

56.

57.

Iggfa wifeat ¥ Ry -
ITRfEra €7 o et -

(1) 84

(2) 47

3) 74

(4) 48

WA § YAl WA % wRw frefefa § @
farg diiferen atftreer 1 3gem Tomm st 22

(1) T&daa @1 AR

(2) v % faeg 3rfusn

(3) HaTH YA 1 AR

(4) FHM 1 H{EHR

ad % Gfum % emEr, fefafam #§ @
P-4 Mt AR TE 87

(1) wimm % foeg sTfusn

(2) w6 A H A UFR

(3) =gt =1 AR

(4) fren F1 SAfEwR

SRYWl % YR W WeWE F Hafia
Ezuild

(1) fem

(2) it

(3) 9m

(4) T fasmerrTa

e A BN FE w7

(1) wareE

(2) TS :

(3) 3= A % GEd =

(4) gt

r MmN,



58. Who appoints the Governor?

59.

60.

61.

62.

(1) The Chief Minister
(2) The Chief Justice of India
(3) The President

(4) The Prime Minister

Who elects the Prime Minister?

(1) The Chief Ministers

(2) MPs

(3) MPs and MLAs

(4) The Council of Ministers

Who among the following is called the
first citizen of India?

(1) The Home Minister

(2) The President

(3) The Prime Minister

(4) The Chief Justice of India

Who among the following is called the

first citizen of a State in India?

(1) The Home Minister

(2) The Governor

(3) The Chief Minister

(4) The Chief Justice of the High Court
The current Lok Sabha (from 2014
onwards) is the—

(1) 14th

(2) 15th

(3) 16th

(4) 13th

58. TS F WA g &7

59.

60.

61.

62.

(1) g
(2) R % gea =

(3) Tafa
(4) wamEh

TR 1 AT HE H 87

(1) g

(2) s

(3) wiEg 3R faums

(4) wifdl 1 e,

frafafa § | frae! WRA &1 g8el AT FHEl
ST 87

(1) et

(2) Tgafa

(3) wuTEER

(4) 9TRA % T AETEE
frfafea 3 4 fresl W@ ¥ TS9 & ggel
AT el Al o7

(1) Tesh

(2) T

(3) e

(4) 3= AT % g AEm

TAHH THE (2014 % 18) '—
(1) 144
(2) 154
(3) 164
(4) 13



63. Who is the current President of India?

64.

65.

66.

(1) Pratibha Patil

(2) M. Venkaiah Naidu

(3) Ram Nath Kovind

(4) Narendra Mog;j

Whi i i
meni:;negfin :}};2 Cof::ilgxggn olfS Ind?:':
(1) Structure of the Government

(2) Names of political parties

(3) Rights of the citizens

(4) Na.m.es of the States and Union
Territories

Who nominates Members t j
bl - o the Rajya
(1) The Vice President
(2) The Prime Minister

(3) The Chief Justice of the Supreme
Court

(4) The President
Who among the following was the

President of the Constituent Assembly
of India?

(1) Dr. B. R, Ambedkar
(2) Dr. Rajendra Prasad
(3) Jawaharlal Nehru

’(4) C. Rajagopalachari

67.

Who among the following was tl:xe only
Indian Governor-General of India?

(1) B. Pattabhi Sitaramayya
(2) T. T. Krishnamachari

(3) C. Rajagopalachari

(4) Dr. Sarvepalli Radhakrishnan

63. I I IAHA TEhy R &7
(1) wfen oifea
(2) THo S Trag
(3) Ty Fifye
(4) &= wdt
64. Wi & wRvA d Prefufa §
et o T 7
(1) WR 1 =
(2) TSI Tell F AW
(3) ARt & AfirR

EZica it

(4) TS SR FE-mi wewil &% Am

65. T8V & HER1 &) 4 THiTHT FaT 27

(1) Swugefa
(2) wamE

(3) waT= =rTer ¥ ey =

(4) Tgufa

66. fi=fifad # ¥ I wra 6 YR TW =

JY q17

(1) STo to 3R g

(2) Eo TSz YR

(3) vETEER YEw

4 Mo TG
67. f=fifas § 4 ¥F wwa =

TaR-SE 17

(1) o wgiiy Hrammzn

(2) o Fo FomrET

(3) Hio TSI

(4) =fo qﬁq@um

THIH R



68. When was the Constitution of India

69.

70.

71.

adopted?

(1) November 26, 1947
(2) November 26, 1949
(3) January 26, 1950

(4) August 15, 1947

Who among the following played a

decisive role in integrating the Princely

States of India?

(1) Sardar Vallabhbhai Patel

(2) Dr. B. R. Ambedkar

(3) C. Rajagopalachari

(4) Jawaharlal Nehru

Which of the following deal with the

matters in the Concurrent List of the

Constitution of India?

(1) State Governments and Local
Government Bodies

(2) Union Territories

(3) Local Government Bodies

(4) Union Government and State
Governments

Who among the following was the

Chairman of the Drafting Committee in

the Constituent Assembly of India?

(1) Dr. B. R. Ambedkar
(2) Dr. Rajendra Prasad
(3) Jawaharlal Nehru

(4) C. Rajagopalachari

68.

69.

70.

71.

VTG &1 WIGUH F" A>T T4 917
(1) 26 7@, 1947

(2) 26 TR, 1949

(3) 26 vHadll, 1950

(4) 15 7T, 1947

frefafiaa & & fFe sma F faradl 1 Thika
w0 1§ faufass sfen far oft?

(1) TER SgudTE 9

(2) o o 3o IF=iEa
(3) Hlo TSTIUTAET

(4) TR EE

frfafad & @ #9 wra & d@faum & quad
T & Al J FH T 27

(1) TS9 &R 3R wHE g fem
(2) z-wiHd wew

(3) wurfia wwwr Frm

(4) ¥z G@R 3R T T

frafafes %@ 99 wra € dfRum @ §

e wfifa & ey 97

(1) o o 3Ro e
(2) Eo Tz WER

(3) VTR e

(4) o TemTETE



72. In the 18th century, under whom did

73.

74.

75.

Bengal gradually break awav f;
Mughal control? A

(1) Nadir Shah

(2) Alivardi Khan

(3) Burhan-ul-Mulk

(4) Murshid Quli Khan

Who among the following Governor-
Generals decided that Bahadur Shah
Zafar would be the last Mughal
emperor and after his death none of the

descendents would be recognized as a
ruler?

(1) William Bentinck

(2) Lord Canning

(3) Lord Cornwallis

(4) Lord Dalhousie

Which Governor-General declared that
Awadh was being misgoverned and
British rule was needed to ensure
proper administration?

(1) Lord Canning

(2) Lord Dalhousie

(3) Lord Mountbatten

(4) Lord Ripon

Which ruler of Kanpur called himself
‘Peshwa’?

(1) Bajirao I

(2) Bajirao II

(3) Bahadur Shah Zafar

(4) Nana Saheb

™M vv s

72.

73.

74.

75.

161w i fes g # e AR g
Fam A erem & ™

(1) M

(2) 3refiad @™
(3) FER-IA-FF
(4) gRia Feft @

frafefag # @ frg TER-s@ 3 HEen
5 s el g wEe g i
T g ¥ % el o I F IEE & w9
T gg= & S’

(1) faferm dfew

(2) @i HF

(3) e HiAaTCE

(4) =TS SRS

i TS ) i e fR o W e
e A WEA T S @ A SR SR W

ghfta 0 % foe fafen wme R st
ofi?

(1) @t Hfm
(2) wiE RN
(3) WS WEeweA
(4) @rE =

FA F Fhe e A g F Vv’ Fa?
(1) H'I\'rﬁTIEIEW

(2) swirra fedra

(3) SETgTITE FH

(4) AT TR




76. The best methodology to teach the

theme ‘Factory’ would be—
(1) to invite a resource person

(2) to organize a visit to an industrial
plant

(3) to screen a documentary film

(4) to narrate a story

77. What is EDUSAT?

(1) A newly discovered planet in the
solar system

(2) An asteroid found between the
orbits of Mars and Jupiter

(3) A man-made Indian satellite

(4) The rocket that carries man-made
satellites to be placed in the orbit
around the sun

78. The verses and ideas of which one of

the following personalities have been
preserved in ‘Panchvani’ and ‘Bijak’?

(1) Kabir

(2) Guru Nanak
(3) Ravidas

(4) Mirabai

79. The mural painting from Ellora Caves

which shows Vishnu as Narasimha, the
man-lion, is a work of which period?

(1) Rashtrakuta period
(2) Chalukya period
(3) Gupta period

(4) Gurjara-Pratihara period

80. Which one of the following organiza-

tions believes in Upanishads?
(1) Ramakrishna Mission
(2) Satyashodhak Samaj

(3) Seva Samaj

(4) Brahma Samaj

76. ‘wwEn’ % famg § ygn ¥ U ge@ IvEnh

faftr drfi—

(1) Tereft e =1 Fwifra e

(2) B sfehfis FrEm H aen A
FE

(3) T el fren feam
(4) T FEH! GAA

77. tgée (EDUSAT) @ 31 3fimm &7

(1) drded § @ T T 91 T8

(2) T &R S WA 3R geeta Hi HEna
<< g S @
(3) T wHa-fAfia wRdla ST

(4) e Forge 3qam wHa-Fiffe swE # gl
% e & it @ % e fF s @

78. ‘tgEmf’ o ‘e # Frefafan 7 @ 6

TEM Bl ¥ B R fEnl # wdidm T
™ 87

(1) el

(2) T
(3) e
(4) T

79. T H w1 f-fm, et ey 9 wfie

Aufq geu-fir % w9 A feam mn &, frw =@
H 27 ‘

(1) TERe et

(2) ST et

(3) TH e

(4) ToR-WTER FTe

80, Fr=fafan § ¥ F-w wrea Iufieg A RA

@l &7

(1) e frem
(2) TEMYF TN
(3) Ta1 T

(4) 5@ T




81.

82.

83.

Wind vane is used for measuring—
(1) air pressure

(2) wind direction

(3) air temperature

(4) wind velocity

Which one of the following layers of the
atmosphere helps in the transmission

of radio waves?
(1) Mesosphere
(2) Thermosphere
(3) Exosphere

(4) Stratosphere

Identify the various layers of the earth
in order from interior to the outermost

layer :

)
—J
]

I~

(1) Mantle, crust, outer core, inner

core

(2) Inner core, outer core, crust,

mantle

(3) Inner core, outer Ccore, mantle,

crust

(4) Crust, mantle, outer core, inner

core

s1.m-ﬁmﬁmvﬁnwmﬁ%mm
T 27

(1) =g
(2) =g fam
(3) =Tg ATAHA
(4) T an
82. argied i Fr=fifad § ¥ FR-8 @ e
T & wel § HeE w87
(1) Hegved
(2) =T AgHed
(3) wferfes ~
(4) GHaHEd

83. gyl i fafis wal =l %w #§ 3rmais | wrEdan
A dh YA

(1) iz, T, Al e, St we
(2) it Fe, T Fre, W, few
(3) el Hie, TR ®e, fow, wdd

(4) w4, Hew, SRl Fie, Ak we



84. Observe carefully the location of the
sun, earth and moon in the given
diagram and tell what it depicts :

O Moon

-6

(1) Lunar eclipse
(2) Spring tide
(3) Neap tide

(4) Solar eclipse

85. When the river enters the plain, it
bends and flows forming large bends
known as—

(1) floodplain
(2) meander
(3) oxbow lake

(4) levee

86. Which means of transport is extremely
useful in most inaccessible areas and

in time of calamities for rescuing
people and distributing food, water,

clothes and medicines?
(1) Railways

(2) Roadways

(3) Waterways

(4) Airways

84. ﬁqmwﬁ@ﬁqﬁ,g%ﬁ af =zm A &g =
v @ 2ftan o waTge 6 7 @0 S g

(O

ﬂ
.@

(1) I5-TE9
(2) & SEAR-H1T
(3) Mg waR-HIe

(4) d-TE

85. <& 79 Fed & YIwW Wl §, @ T§ qS W
3R o2 g SER Tl 8, S FEAdl e—

(1) =T¢ %1 HH
(2) famd
(3) SyEHTa 3
(4) desy
86. 3ffehiyl 3R & H 3R aTuErel % wwg W
H =R IR WA, A, wI8 @ e A

 Toafm 0 % fow T & BR-a1 @ a6
IqErh j7

(1) Yemm
(2) wSFAT
(3) Sermmi

(4) avga



87. The branch of geo

88.

89.

: raph i
with composition ofga ;ar}t’icﬁllzg?x "o
population is called— N

(1) biogeography
(2) demography
(3) human geography
(4) urban geography

Assertion (A) :

The sun sets in Gujarat about two
hours after Arunacha.l Pradesh.
Reason (R) :

Ar1:1nacha.l Pradesh is on a higher
latitude than Gujarat.

Select the correct option from the given’

alternatives.

(1) Both (A) and (R) are true, but (R)

does not explain (A)
(2)
(3)
(4)

(A) is true and (R) is false

(A) is false and (R) is true

Both (A) and (R) are true, and (R)
explains (A)

Which one of the following is a non-
conventional source-of energy?

(1) Natural gas

(2) Solar energy

(8) Coal

(4) Firewood

90. The breeding of fish in specially

constructed tanks and ponds is

known as—

(1) viticulture
(2) horticulture
(3) pisciculture

(4) sericulture

87.

88.

89.

90.

i @ @8 ma, S fafie wre sEEen 6
wre % form @ welE R, Feemd i—

(1) 3= ¥

(2) SFEifETH
(3) WME spiE
(4) P S

AfwyT (A) :

gwﬁmmﬁmﬁnaﬁ
e 1% B B

SR (R) :

VM= W, TG i o1 § 399 &
W fem B

fo g forspedl A Wl foreheq 1 <7 A

(1) (a) 3R (R) <Ml ¥ %, @f (R) (&)
TIE TE Rl &

(2) (A) 9 ? 3R (R) 39T &

(3) (A) 3@ ? 3R (R) ¥4 &

(4) (A) 3R (R) A @ &, ol (R) (4) A
TE F B

freafafea 4 ¥ FF-w S F1 R-WwWrE

e &7

(1) Wi T

(2) €R =1

(3) P

(4) 3

frdw wu & fififa & oin aa=t & wocll =

TS HEA o—

(1) fafwemt

(2) Ffwe

(3) Todiere=r

(4) ¥fFex



PART—IV
Language—I

ENGLISH

IMPORTANT :

Candidates should attempt questions from Part—IV (Q. Nos.
91 to 120), if they have opted for ENGLISH as Language—I only.

Directions : Answer the following questions

© (Q. Nos.

91 to 105) by selecting the

correct/most appropriate options.

91.

92.

93'

Grammar-translation = method s
basically used to teach—

(1) foreign language

(2) rules of any language usage

(3) classical language

(4) grammar

Which one of the following can be

used as a rubric for the assessment of

fluency and coherence of language?

(I) Can initiate and logically develop
simple conversation on a familiar
topic

(2) Is always comprehensible, uses
appropriate intonation

(3) Demonstrates hesitation to find
words or use correct grammatical
structures

(4) Can express with some flexibility
and appropriacy on variety of
topics

Which one of the following is not the

objective defined by NCF-2005 for

teaching English at upper primary

level?

(1) To use dictionary suitable to their

needs

(2) To be able to articulate
individual/personal responses
effectively

(3): To promote learners’ concep-

tualization of printed texts in
terms of heading, paragraph and
horizontal lines

(4) To negotiate their own learning
goals and evaluate their own
progress; edit, revise, review their
own work

94.

95.

96.

97.

If you are listening to the descrip?ion
of how to reach a specific location,
then you are doing—

(1) focused listening

(2) intensive listening

(3) extensive listening

(4) casual listening

If a language teacher has put the .
words ‘school, teacher, headmaster,

peon’ in a group, then she is
following—

(1) semantic grouping

(2) phonetic grouping

(3) grammatical grouping

(4) lexical grouping

“At the initial stages of language
learning, may be one of the
languages for learning activities that

create the child’s awareness to the
world.” (NCF-2005)

(1) Vernacular language

(2) Second language

(3) Hindi

(4) English

Little or no attention is given to
pronunciation in ____ method.

(1) grammar-translation

(2) CLT

(3) SLT

(4) audio-lingual



98.

99,

100.

101.

Which one of the followin
come under the
and gradation?

follc g does not
principle of selection

(1) Availability
(2) Coverage
(3)

Frequency

(4) Accuracy

The phenomenon, where a single word
1s associated with two or several
related meanings, is known as—

(1) homograph
(2)

(3)

polysemy
homonymy

(4)

homonyms

“The dog lived in the garden, but the
cat, who was smarter, lived inside the
house” is an example of—

(1) complex compound sentence

(2) complex sentence

(3)

compound sentence

(4)

simple sentence

If a student of language is cramming
his/her answers, then he/she would
not be able to—

(1)
(2)
(3)
(4)

attempt vocabulary-based exercise
attempt structural questions
attempt creative writing

attempt question answers

102.

103.

104.

105.

+(2)

if a student is

piercing information together as the:y
read a text keeping track of what 1s
happening, he/she is—

(1)
(2) paraphrasing

During reading,

skimming

(3) synthesizing

(4)

inferring

Which one of the following does not
affect the intonation?

(1)
(2)
(3)
(4)

Tone
Rhythm
Loudness

Voice/Pronunciation

are involved in thinking.

(1)

Image, imagination,
proposition

concept,

Irﬁagination, language, concept,

.proposition

(3) Image, language, concept,
proposition

(4) Image, language, imagination,
proposition -

Language laboratory is the place
where the learners have to listen on
headphone. The language labs are set

up with a view to provide listening
activities in order to develop—

(1)
(2)
(3)
(4)

speech habit
criticizing habit
listening activities

analysis habit



Directions : Read the passage carefully
and answer the questions that follow
(Q. Nos. 106 to 114) by selecting the
correct/most appropriate options.

Born out of the forces of globalization, India’s
IT sector is undertaking some globalization
of its own. In search of new sources of rapid
growth, the country’s outsourcing giants are
aggressively expanding beyond their usual
stomping grounds into the developing world;
setting up programming centres, chasing new

* clients and hiring local talent. Through
geographic diversification, Indian companies
hope to regain some momentum after the
recession. This shift is being driven by a
global economy in which the US is no longer
the undisputed engine of growth. India’s
IT powers rose to prominence largely on the
decisions made by American executives, who
were quick to capitalize on the cost savings to
be gained by outsourcing noncore operations,
such as systems programming and call
centres, to specialists overseas.

Revenues in India’s IT sector surged from $4
billion in 1998 to $59 billion last fiscal, but
with the recession NASSCOM forecasts that
the growth rate of India’s exports of IT and
other business services to the US and Europe
will drop to at most 7% in the current fiscal
year, down from 16% last year and 29% in
2007-08.

Factors other than the crisis are driving
India’s IT firms into the emerging
world. Although the US still accounts for 60%
of the export revenue of India’s IT sector,
emerging markets are growing faster.
Tapping these more dynamic economies
won't be easy, however. The goal of Indian IT
firms for the past 30 years has been to woo
clients outside India and transfer as much
of the actual work as possible back home,
where lower wages for highly skilled
programmers allowed them to offer
significant cost savings. With costs in other

emerging economies equally low, Indian firms
can’t compete on price alone.

To adapt, Indian companies which are
relatively unknown in these emerging nations
are establishing major local operations
around the world, in the process hiring
thousands of locals. Cultural conflicts arise
at times while training new recruits.
In addition, IT firms also have to work extra
hard to woo business from emerging-market
companies still unaccustomed to the concept
of outsourcing. If successful, the future of
India’s outsourcing sector could prove as

bright as its past.

106. What is the author trying to convey
through the phrase “India’s IT sector
is undertaking some globalization of
its own”?

(1) The Indian IT sector is competing
with other emerging nations for
American business.

(2) The Indian IT sector is
considering outsourcing to
developing economies.

(3) Indian IT firms are engaging
- in expanding their presence
internationally.

(4) India has wusurped America’s
position as the leader in IT.

107. Which of the following factors made

the services offered by the Indian IT
attractive to the US?

A. Indian IT companies had
expertise in rare core operations

B. The US lacked the necessary
infrastructure and personnel to

handle mass call centre
operations
C. Inability of other equally

cost-efficient developing countries
to comply with their strict policies

(1) Only A
(2) Only A and B
(3) Only C

(4) None



108. What has caused Indian IT firms to

chafxge .the way they conduct
business in developing countries?

(1) The demands of these markets

are different from those of India’s
traditional customers

(2) Wages demanded by local
workers are far higher than what
they pay their Indian employees

(3) Stringent laws which are not
conducive to outsourcing

(4) The volume of work being

awarded cannot be handled by
Indian firms

109. What do the NASSCOM Istatistics

about Indian IT exports indicate?

(1) Indian IT firms
exorbitantly for their services

(2) India has lost
emerging IT hubs

out to other

(3) The Indian IT sector should

undergo restructuring

(4) Drop in demand for IT services by
= Europe and the US

{

110. According to the passage, which one
of the following is not a difficulty that
Indian IT firms will face in emerging
markets?

(1) Local IT services are equally
cost-effective

(2) The US s their preferred

outsourcing destination

(3) Conlflicts arising during the
' training of local talent

(4) Mindset resistant to outsourcing

charge

111. Which of the following is/are not true
in the context of the passage?

A. The recession sevet_‘ely impacted
the US but not India.

B. India is trying to depend less on
the US as a source of growth.

C. The future success of Indian_IT
firms depends on emerging
markets.

(1) Only Band C
(2) Only A
(3) Only B
(4) All A, B and C
112. Which one of the following words is

most similar in meaning to the word
‘chasing’ as used in the passage?

(1) Harassing
(2) Pestering
(3) Pursuing
(4) Running
113. Which one of the following words is
most opposite to the meaning of the

word ‘“undisputed’ as used in the
passage?

(1) Doubtful

(2) Deprived
.(38) Emphasized

(4) Challenging

114. Other than crisis, what is driving IT
companies to seek other options?

. (1)

(2) The US makes more than 60% of
India’s export revenue

Emerging markets

(3) None of the above
(4) Both (1) and (2)



Directions Read the extract given
below and answer the questions that
follow (Q. Nos. 115 to 120) by selecting
the correct/most appropriate options.

Break, Break, Break,
On thy cold gray stones, O Seal

And I would that my tongue could utter -
The thoughts that arise in me.

0, well for the fisherman’s boy,
That he shouts with his sister at play!

0O, well for the sailor lad,

That he sings in his boat on the bay!

And the stately ships go on
To their haven under the hill;
But O for the touch of a vanish’d hand,

And the sound of a voice that is still!

Break, Break, Break,
At the foot of thy crags, O Sea!

But the tender grace of a day that is dead

Will never come back to me.

115. What is ‘breaking’ in ‘Break, Break,
Break’?

(1) Poet’s heart

(2) The wind

-(3) 'i‘he sunshine through the clouds
(4) The sea |

116. The mood of the speaker in ‘Break,

Break, Break’ is—

(1) lighthearted

(2) somber and grieved
(3) energized

(4) contemplative and hopeful

117. The speaker in ‘Break, Break, Break’
observes all the following, except—

+(1) a sailor boy singing
(2) a lady in a tower
(3) ships coming in
(4) children playing
118. The speaker of ‘Break, Break, Break’
cannot—
(1) see
(2) speak
(3) hear
(4) feel
119. In the first two lines of the poem, the
poet uses—
(1). apostrophe
+(2) assonance
(3) metaphor
(4) simile
120. The phrase ‘héven under the hill’is an
example of—
(1) metaphor
(2) alliteration
+(3) - personification

(4) simile
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PART—V

Language—II
ENGLISH

IMPORTANT : Candidates should attempt questions from Part—V (Q. Nos.
121 to 150), if they have opted for ENGLISH as Language—II only.

Directions : Answer the following questions

(Q. Nos.

121 to 135) by selecting the

correct/most appropriate options.

121. Students are not organisms. Which

122,

123.

one of the following methods sees
them as a whole person?

(1) SLT
(2) Silent way
(3) CLL
(4) CLT

Writing is the
speech sounds.
(1) graphical
(2) phonetic

representation of

(3) systematic
(4) alphabetical

When a teacher uses realia to teach
vocabulary and grammar, she is—

(1) using real objects, actions and
real-life situations

(2) using computer technology
(3) teaching through true stories

(4) using role play as a learning
device

124, A poem whose first letters of each line

™ TT Iv™

spell out a word is called—
(1) epic

(2) acrostic

(3) haiku

(4) alliterative

125.

126.

127,

128.

Decorum in spoken English pertains
to—

(1) clarity and purity of style
(2) correct grammatical usage
(3) voice quality

(4) appropriate gestures

Inquiry-based curriculum is based
on—

(1) inductive reasoning
(2) heuristic reasoning
(3) analogical reasoning

(4) deductive reasoning

Which of the following are structural
words?

(1) Auxiliaries
(2) Prepositions
(3) Conjunctions

(4) All of the above

Conventions of writing include—
(1) proper punctuation

(2) imagination

(3) good vocabulary

(4) story ideas



129. Positive interference is a kind of—
(1) foreign language
(2) pictorial language
(3) native language
(4) target language

130. In learning the new language,
multilingualism is—
(1) an asset

(2) an interference
(3) a burden

(4) a methodology

131. Note taking is done—
(1) while reading a review
(2) during extensive reference work
(3) while writing an essay

(4) during a lecture.

132. The method of teaching foreign

133.

134.

135.

language without using the pupil’s
first language is—

(1) classical method
(2) grammar-translation method
(3) old method

(4) direct method

Two words have identical sound and
spelling, but not related in meaning.
It is known as—

(1) homonymy

(2) homograph

(3) polysemy

(4) homophone

Language of word is not necessary
for—

(1) conceptual thinking

(2) associative thinking

(3) perceptual thinking

(4) imaginative thinking
Communicative Language Teaching
replaced basically—

(1) Structural Teaching

(2) Situational Language Teaching
(3) Motivational Teaching

(4) Natural Language Processing



Directions Read the passage given
below and answer the questions that
follow (Q. Nos. 136 to 144) by selecting the
correct/most appropriate options.

The strength of Indian democracy lies in its
tradition, in the fusion of the ideas of
democracy and national independence which
was characteristic of the Indian national

movement long before independence.
Although the British retained supreme
authority over India wuntil 1947, the

provincial elections of 1937 provided real

exercise in democratic practice before
national independence. During the Pacific
War, India was not overrun or seriously
invaded by the Japanese and after the War
was over, the transfer of power to a
government of the Indian Congress Party
was a peaceful one as far as Britain was
concerned. By 1947, ‘Indianization’ had
already gone far in the Indian Civil Service
and army, so that the new government could
start with effective instruments of central

control.

After independence, however, India was faced
with two vast problems, the first, that of
ethnic diversity and the aspirations of sub-
nationalities. The Congress leadership was
more aware of the former problem than of the
second; as a new political elite which had
rebelled not only against the British Raj, but
also against India’s social order; they were
conscious of the need to initiate economic
development and undertake social reforms,
but as nationalists who had led a struggle
against alien rule on behalf of all parts of
India, they took the cohesion of the Indian
nation much for granted and
underestimated the centrifugal forces of
ethnic division, which were bound to be
accentuated rather than diminished as the

too

popular masses were more and more drawn
into politics. The Congress Party was
opposed to the idea of recognizing

originally
n a linguistic basis and

any division of India o
preferred to retain the old provinces of British
India which often cut across linguistic
boundaries; it was only in response to strong
pressures {rom below that the principle of
linguistic States was conceded as the basis of

a federal ‘Indian Union’. The rights granted to

the States created new problems for the

Central Government. The idea of making
Hindi the national language of a united India
was thwarted by the recalcitrance of the

speakers of other important  Indian
languages, and the autonomy of the States
rendered  central  economic planning

extremely difficult.

Land reforms remained under the control of
the States and many large-scale economic
projects required a degree of cooperation
between the Central Government and one or
more of the States which it was found
impossible to achieve. Coordination of
policies was difficult even when the Congress
Party was in power both in the States and at
the Centre; when a Congress government in
Delhi was confronted with non-Congress
parties in office in the States, it became much

harder.

136. Choose the word which is most nearly
the same in meaning as the word
‘thwarted’ as used in the passage.
(1) Implemented
(2) Accepted

(3) Diverted

(4) Opposed



137.

138.

139.

Choose the word which is most
opposite in meaning of the word
‘conceded’ as used in the passage.
(1) Rejected

(2) Denounced

(3) Withdrawn

(4) Criticized

Why was central economic planning
found to be difficult?

(1) Lack of coordination in different
government departments

(2) Autonomy given to the States in
certain matters

(3) Lack of will in implementing land
reforms

(4) Multiplicity of States and Union
Territories

Which one of the following problems
was India faced with  after
independence?

(1) Lack of coordination between the
Central and State Governments

(2) Improper coordination of various
government policies

(3) Increasing the production from
a very low level

(4) Military attack from across the
border

140. Which one of the following issyes wag

141.

not appropriately realized by the
Central Government?

(1) A national
country

language for the

(2) Implementation of the formulated
policies

(3) Centre-State relations

(4) Ethnic diversity of the people

Which, according to the passage,

can be cited as exercise in

democratic practice in India before
independence?

(1) The handing over of the power by
British to India

(2) The Indianization of the Indian
Civil Service

(3) Several democratic institutions
created by the Indian National
Congress

(4) None of the above



142.

143.

144,

Which one of the following statements
is not true in the context of the

passage?

(1) Economic development and social
reforms were initiated soon after

independence.

The political elite in India rebelled
against the British Raj.

(2)

(3) The Congress leadership was fully
aware of the problems of ethnic
diversity in India at the time of
independence.

(4) The Congress Party was originally
opposed to the idea of division of

States on linguistic basis.

Why was the linguistic reorganization
of the States accepted?

(1) Non-Congress governments in
the States demanded such a

reorganization of the States.

(2) No common national language
could be emerged.

(3) Strong pressures from the States
were exerted on the Central
Government to create such States.

(4) The States were not cooperating

with the Central Government.

India was not overrun by the
Japanese during the Pacific War
because—

(1) Japan had friendly relations with
Britain
(2) Japan was interested in India’s

freedom

Japan was skeptical about its
success in War

3)

(4) None of the above

Directions : Read the passage given
below and answer the questions that
follow (Q. Nos. 145 to 150) by selecting the
correct/most appropriate options.

“A principal fruit of friendship”, Francis
Bacon wrote in his timeless meditation on the
subject, “is the ease and discharge of the
fullness and swellings of the heart, which
passions of all kinds do cause and induce.”
For Thoreau, friendship was one of life’s great
rewards. But in today’s cultural landscape
of muddled relationships scattered across
various platforms for connecting, amidst
constant debates whether
Facebook ‘riendships’ are making us more

or less happy, it pays to consider what

about our

friendship actually is. That’s precisely what
CUNY

Pigliucci explores in Answers for Aristotle :

Philosophy  professor ~ Massimo
How Science and Philosophy Can Lead Us to a
More Meaningful Life (public library), which
also gave us this provocative read on the

science of what we call ‘intuition’.

Philosophers and cognitive scientists agree
that friendship is an essential ingredient of
human happiness. But beyond the dry
academic definitions—like, say, “voluntary
interdependence between two persons over

to facilitate

time, which 1is intended
socio-emotional goals of the participants, and
may involve varying types and degrees of
companionship, intimacy, affection and
mutual assistance’—lies a body of compelling
research that sheds light on how, precisely,
friendship augments happiness. The way

friendship enhances well-being, it turns out,



has

nothing to do with quantity and

everything to do with quality—researchers

confirm that it isn’t the number of friends (or,

in the case of Facebook, ‘friends’).

145.

146.

147.

The change in the present situation
which has forced us to rethink the
concept of friendship is—

(1) the arrival of social media on the
scene

(2)

there is more
sciences

interest in the

(3) friendships are not possible in
the real world anymore, due to

over-competition

(4)

Bacon and Thoreau’s theories are
no longer available to read

Friendship leads to happiness. Is it
true?

(1) No, there is no relationship
between friendship and
happiness

(2) Friends cannot make each other
happy

(3) One needs to find one’s
happiness alone, with peace of
mind

Yes, researches have proven that
friendship does lead to happiness

(4)

Did Pigliucci’s book discuss intuition
too?

(1)

It just explained science and
philosophy

(2) It discussed Aristotle’s theories
(3)

(4)

Yes

No, it only discussed friendship

148,

149,

150.

Is the quality of friends important?

(1) No, number of comments on

social  networking  sites g
important, not the quality of
friends

(2) Yes, it matters

(3) No, quality comes automatically
with quantity

(4) No, it is important to have more

number of friends, quality does
not matter

As per the first paragraph, what are
the debates about?

(1) There are no debates around

friendship.

(2) The quality of comments of social
media is debatable.

(3) Thoreau and Aristotle’s thinking
is at loggerheads.

(4) They are centered around

whether our Facebook friends are
helping us become more or less
happy.

The word that is opposite in meaning
to the word ‘muddled’ is—

(1) chaotic
(2) ordered
(3)

rumpled

(4) confused
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